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Sim
plify!

     a + a + a
Sim

plify!
     4ac + 5ac

Shade 3 m
ore triangles to m

ake a 
pattern w

ith rotational sym
m

etry 
order 3.

A theatre has 52 row
s of seats.

Each row
 has 19 seats.

Tickets cost £9.75 each.
All tickets are sold for a show.

Estim
ate how

 m
uch m

oney is raised.

W
ork out x.

W
rite an expression, in term

s of y, for 
the perim

eter of the rectangle.

          

N
am

e: ______________                                    5-a-day                                               Foundation
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